Problems #10, Math 2051, Dr. M. Bohner. Nov 20, 2001. Due Nov 27, 3:30 pm.

(44) Find the solutions of the following initial value problems:
(a) a, =2na, 1 ¥n € N, a9 = 1;
(b) any1 =T7a, —10a,—1 Yn € N, ay = 5, a; = 16;
(¢) Lnjo=Lpy1+ Ly, VneN, Ly =1, Ly = 3;
(d) \/n1 = /an +2 /0,1 VD EN, ap = a; = 1;
(€) ani1 =4/ Vn €N, a0=8,a1=ﬁ.
(45) Find all solutions of the the following recurrence relations:
(a) ap, =5a,_1 Vn € N;
(b) any1 = 2an + 8ay_1 Vn € N;
(¢) any1 =6a, —9a,_1 Vn € N;
(d) vpyo = Tupyr — 16w, + 12u, 1 Vn € N.
(46) Use the variations of parameter technique to find the solutions of the following initial value
problems:
(@) Yns1 —nyn = (n+ 1)L, y1 = 5;
(D) Ynro2 = 5Ynt1 +nyYn =27, y1 =4, ya = 9.
(47) Consider a second order linear homogeneous recurrence relation y,io = anYni1 + bp¥n-
Suppose z, and z, are two solutions of the equation. Show
(a) pn = x, + 2, is also a solution of the equation;

(b) ¢, = az, is also a solution of the equation (for any « € R).



